
Installation Instructions
Faraday Tables

Feburary 21, 2022



Table of Contents

Single-Piece Base and Top (Table Sizes 120" Wide and Less)

Set Frame in Place & Adjust Levelers...............................1

Remove Cover Panel........................................................1

Attach Angle Irons............................................................2

Set Plinth Inside Frame..................................................2

Place Top and Attach to Frame........................................3

Center Plinth and Attach to Top........................................3

Remove Leveler Block.....................................................4

Replace Cover Panel.......................................................4

Multi-Piece Base and Top (Table Sizes Over 120" Wide)

Set Frame in Place & Adjust Levelers..............................5

Remove Cover Panel........................................................5

Attach Angle Irons.............................................................6

Set Plinth Inside Frame..................................................6

Join Base Sections...........................................................7

Place Top and Join Sections............................................8

Center Top and Attach to Frame......................................8

Center Plinth and Attach to Top........................................9

Remove Leveler Blocks..................................................10

Replace Cover Panels....................................................10



1

SINGLE-PIECE BASE AND TOP

(TABLE SIZES 120" WIDE AND LESS)

SET METAL BASE FRAME IN PLACE & ADJUST LEVELERS

** Adjust the round mounting plates to be level with each other.

REMOVE COVER PANEL FROM PLINTH BASE

** Lift off cover panel from plinth base by

unlocking from button fixes. (See Detail A)

Unlock button

fixes by

sliding part A

up and off

part B.

Part A

Part B

DETAIL A

Use levelers in bottom

of metal frame for

leveling to floor and

minor adjustments only.

Twist the

levelers/plates

up and down

to level.



2

SINGLE-PIECE BASE AND TOP

(TABLE SIZES 120" WIDE AND LESS)

ATTACH ANGLE IRONS TO PLINTH BASE

** Attach 5" angle irons to each short side of

plinth base using #10 x 3/4" Pan Head screws.

** Attach 10" angle iron to center back of plinth

base using #9 x 5/8" Pan Head screws.

#10 x 3/4"

Pan Head

Screws

SET PLINTH BASE IN PLACE INSIDE

OF METAL BASE FRAME

#9 x 5/8"

Pan Head

Screws



3

SINGLE-PIECE BASE AND TOP

(TABLE SIZES 120" WIDE AND LESS)

PLACE TOP AND ATTACH TO FRAME

** Center top on frame.

** Ensure top is level.  Make final adjustments to post levelers as needed to ensure top is level.

** Attach round mounting plates on metal base frame to top.

~ If inserts were used in top use M8-1.125 x 25 button head socket cap screws.

~ If no inserts were used in top use #10 x 1" pan head screws.

#10 x 1"

Pan Head

Screws

If inserts were used in top:

M8-1.125 x 25 BHSCS

If no inserts were used in top:

#10 x 1" Pan Heads

IMPORTANT: Ensure top is level before screwing frame to top.

CENTER PLINTH & ATTACH TO TOP

** Level up plinth to top with levelers under plinth.

** Center plinth in frame.

** Attach 5" angle irons to top using #10 x 1" Pan Head Screws

** Attach 10" angle iron to top using #9 x 5/8" Pan Head Screws

#9 x 5/8"

Pan Head

Screws

Level plinth

up to top



4

SINGLE-PIECE BASE AND TOP

(TABLE SIZES 120" WIDE AND LESS)

REMOVE LEVELER BLOCK

REPLACE COVER PANEL

** Re-Attach cover panel by bringing panel in towards base and locking

down into place aligning with button fixes. (See Detail B)

Lock button

fixes by

sliding part A

down onto

part B.

Part A

Part B

DETAIL B



5

MULTI-PIECE BASE AND TOP

(TABLE SIZES OVER 120")

SET METAL BASE FRAMES IN PLACE & ADJUST LEVELERS

** Adjust the round mounting plates to be level with each other.

REMOVE COVER PANELS FROM PLINTH BASE

** Lift off cover panels from plinth base by

unlocking from button fixes. (See Detail A)

Unlock button

fixes by

sliding part A

up and off

part B.

Part A

Part B

DETAIL A

Use levelers in bottom of metal

frame for leveling to floor and

minor adjustments only.

Twist the

levelers/plates

up and down

to level.



6

MULTI-PIECE BASE AND TOP

(TABLE SIZES OVER 120")

ATTACH ANGLE IRONS TO PLINTH

** Attach 5" angle irons to each short side of plinth base using #10 x 3/4" Pan Head screws.

** Attach 10" angle irons to center back of plinth section using #9 x 5/8" Pan Head screws.

SET EACH PLINTH SECTION INSIDE OF METAL BASE FRAME

** Set outer plinth section inside of frame.

** Set middle plinth section inside of frame.

** Set last plinth section inside of frame.

#10 x 3/4"

Pan Head

Screws

#9 x 5/8"

Pan Head

Screws



7

MULTI-PIECE BASE AND TOP

(TABLE SIZES OVER 120")

JOIN PLINTH BASE SECTIONS

** Join plinth base sections using double head cams to join

panels, and mini-fix cams to join center supports.

Double Head Cams

Mini Fix

Cams

JOIN BASE SECTIONS

DETAIL



8

MULTI-PIECE BASE AND TOP

(TABLE SIZES OVER 120")

PLACE TOP AND JOIN SECTIONS

** Place top sections on frame and join top sections

together using field joints.

CENTER TOP AND ATTACH TO FRAME

** Center top on frame.

** Ensure top is level.  Make final adjustments to post levelers as needed to ensure top is level.

** Attach round mounting plates on metal base frame to top.

~ If inserts were used in top use M8-1.125 x 25 button head socket cap screws.

~ If no inserts were used in top use #10 x 1" pan head screws.

FIG.1

FIELD JOINT DETAIL

FIG.2

If inserts were used in top:

M8-1.125 x 25 BHSCS

If no inserts were used in top:

#10 x 1" Pan Heads

IMPORTANT: Ensure top is level before screwing frame to top.



9

MULTI-PIECE BASE AND TOP

(TABLE SIZES OVER 120")

CENTER PLINTH & ATTACH TO TOP

** Level up plinth to top with levelers under plinth.

** Center plinth in frame.

** Attach 5" angle irons to top using #10 x 1" Pan Head Screws

** Attach 10" angle iron to top using #9 x 5/8" Pan Head Screws

#10 x 1"

Pan Head

Screws

#9 x 5/8"

Pan Head

Screws

Level plinth

up to top



10

MULTI-PIECE BASE AND TOP

(TABLE SIZES OVER 120")

REMOVE LEVELER BLOCKS

REPLACE COVER PANELS

** Re-Attach cover panels by bringing panel in towards base and locking

down into place aligning with button fixes. (See Detail B)

Lock button

fixes by

sliding part A

down onto

part B.

Part A

Part B

DETAIL B




